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8-5) Adding and Subtracting
Polynomials (pages 439-443)

To add polynomials, you can group like terms and then find their sum, or you
can write them in column form and then add. To subtract a polynomial, add
its additive inverse, which is the opposite of each term in the polynomial.

Find each sum or difference.

a. @2+4a+3)+ (5a2—2a—"7) b. (12x + 7y) — (—x + 2y)
Arrange like terms in column form and add. Follow Find the additive inverse of —x + 2y. Then group the
the rules for adding signed numbers. like terms and add.
a2+ 4a + 3 The additive inverse of —x + 2y is x — 2y.
(+)5a2 —2a — 7 (12x + 7y) — (—x + 2y)
6a2 +2a — 4 =(12x+ 7y) + (x = 2y)
=(12x + x) + (7y — 2y)
= 13x + 5y
Try These Together
Find each sum or difference.
1. Ta + 3b — 4c 2. 2a2—-Ta+8 3. 5x2 — 3x + 1
a+ 9b + 4c Ta? -2 (-) —4x2—2x+ 8
(+) =3a — 96 — 9c (+)a?—2a +1

Hint: For Exercise 3, remember to add the opposite of the second term in each column.

Find each sum or difference.

4. (a3 — 4b3) + (2a3 + 5a2b — 6b2 + 4b3) 5. (2r — 8s) — (8r + 3s)

6. (3x2+6y +3)+(—2x2+ 2y — 8) 7. (33n + m) — 15m

8. (492 + 3y) + (—8y> — 2y + 6) 9(2c2—9)—(4c2+4c+1)

0. (3¢ 3+8q) + (=5¢2 — 7q) 1. (5+ b+ 2b2) + (3 — 2b + 9b?)
12. (5222 — xy — 1) — (Tay + 2) 13. (52 — 2) — (2k2 + 6k + 1)

4. (6x 2 + xy — 5y2) + (9x2 + 4xy + 9y?) 15. (ax2 + 8ax) — (8ax? — 2ax + 9)

The measure of two sides of a triangle are given. P represents the
measure of the perimeter. Find the measure of the third side.

16. 2x — 2y,4x — y,P = Tx + by 17. 10x — 1,8x2 + 2,P = 15x2 — 9x + 18

18. BIEILE LI NES A E A Find (4x2 + 4x — 3) — (x2 — 8x + 2).

A 3x2+12x -5 B 5x2—4x —1 C 32 —4x -1 D 5x2+12x — 5
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